Chem 116
Test 3 Practice Problems

. Complete the following table by calculating the mg®ntries and indicating whether the
solution is acidic or basic.

acidic
or
[HO] [OH] pH pOH basic?

6.70

. Using the Table of Conjugate Acid-Base Pairs, decidehgheach of the following equilibria
lies to the left or right.

H,C,0,(aq) + SQ7(aq) = HC,0, (aq) + HSQ;(aq)
HC,0, (aq) + SQ*(aq) = C,0,*(aq) + HSQ;(aq)
HC,0, (ag) + OCf(aq) = C,0,>(ag) + HOCl(aq)
HOBr(ag) + OCI(ag) = OBr(ag) + HOCl(aq)

Using the Table of Conjugate Acid-Base Pairs, decidehs#ha solution of NaH©O,(aq) is
acidic or basic.

. TheK, of HPQ?* is 3.6 x 10",

(@) What is the value df, for the phosphate ion, BO?

(b) Calculate the concentration of hydroxide ion, [Phh a 0.10 M solution of N&O,.
(c) What is the percent hydrolysis of phosphate ionQril@ M solution of N&O,?

. Consider the titration of 25.0 mL of 0.120 M acetic aciH{CO,H, K, = 1.76 x 10°) with

0.100 M NaOHé&q).

(a) How much 0.100 M NaOld¢) must be added to reach the equivalence point?

(b) How many millimoles of CECO,H are present in the initial sample?

(c) What is the initial pH of the sample solution?

(d) What is the pH of the solution after adding 5.0 mL of 0. M0RaOH(@aqg)?

(e) What is the pH of the solution after adding 15.0 mL #00.M NaOH&q)?

( What is the pH at the equivalence point?

(g9) What is the pH when 5.0 mL of 0.100 M NaQ@#Hl( has been added beyond the
equivalence point?



